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ZBMN + ZDNM = 180° (co-interior angles)
2v+x = 180°
3x = 180°
\ - 600

ZBMN = 2x=2x60=120°
ZDNM = x=60°

23V ExERCISE - 5.2 ]

In the figure question identify the pair of angles as
corresponding angles alternate interior angles, exterior
alternate angles, adjacent angles, vertically opposite angles
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and co-interior angles, linear pairs. 3
() Z3and £6 (i) Z3and L7 s]e
(i) Z2and Z4 (iv) Z2and £7 . VYA > m
(v) Zland £8 (vi) Z4and £6
(vii) £1and £5 (viii) £1 and Z4 ]u
(ix) Z5and £7
In the figure identify

(i)  The pairs of corresponding angle.

(i) The pairs of alternate interior angles.

(iif) The pairs of interior angles on the same side of the transversal.

(iv) The pairs of vertically opposite angles

In the given figures, the intersected lines are parallel to each other. Find the unknown
angles.
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Find the value of x in the following figures if /|| m
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In the given figures arms of two angles are parallel find the following.
(@) (i) <£DGC (b) (i) Z£MNP
(iiy ZDEF (ify ZRST




92 Mathematics - VI
6.  In the following figure AB Il CD and EF Il GH, find the measure of Zx and Zy.

7.

8.  In the given figure below, decide whether / is parallel to m.
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9.  Multiple Choice Questions
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(/) A pair of complementary angles is
(@) 130°,50° (b) 35°,55°
() 25°175° & 2.5
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(ii) A pair of supplementary angles is

(a) 55°115° (b) 65° 125°
(c) 47°,133° (d) 40°,50°
(iii) If one angle of a linear pair is acute, then the other angle is
(a) acute (b) obtuse
(c) right (d) straight

(iv) In the adjoining figure, if / Il m then the value of x is.
n
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(a) 50° (b) 60°
(¢) 70° (d) 45°
(v) In the adjoining figure, if / Il m, then
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(@) 75° (b) 95°
(c) 105° (d) 115°
(vi) In the adjoining figure, the value of x that will make the lines / and m parallel is.
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(@) 20 by 30
(¢) 60 (d) 80
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AIM : To introduce the properties of parallel lines cut by a transversal.
Objective : To verify the equality of alternate interior angles and corresponding angles made by
a transversal on parallel lines through paper cutting and pasting.
Previous Knowledge :
(/)  Concept of alternate interior, corresponding and vertically opposites angles.
(i) Concept of parallel lines
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